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int add(int a, int b) {

return a + b;

}
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def add(a, b):
return a + b

SREOHER, Int #EEL THIBLERVEORPBHTH L J EHRLT
Wi T, L L Python DHEIZZD & 5 RBIOFEN R (. Ay XY LR
TEIZE-> TV T,

12 Uy BIOEDPRETH > T Python (ICHD VDU TR b 28 A,
7z & Z21E, Python TIZEEFIL int 7 7 A, XFFIELstrr 7 2 L LTEH
Shid, 2o, Eitadd() BEO5 B a i BHL bIIXFHI % AN TET
LIZBEIR RO & I CROR—F e £ T BN TypeError BFAEL 2375 20
& 912, Python BEIDZEH% HERIIZIZITV 2 €A LI - T, 2—F»&E
(LRI 7 —DPREDCIIBPEHRT I LENDH 23,

>>> def add(a, b)
return a + b

>>> add(1, '2')
Traceback (most recent call last):
File "<stdin>", line 1, in <module>
File "<stdin>", line 2, in add
TypeError: unsupported operand type(s) for +: 'int' and 'str
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def even_or_odd(n):
if n% 2 ==
print('{@%<Td")
else:
print('&F#TY")
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